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E—=: FMAKIEH ( Level 1: knowledge and comprehension)
E-F: AKXt (Level 2: application and analysis)
F=R: ZE&6&1TE ( Level 3: synthesis and evaluation)
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Detalled syllabus

A Specialist cost and management
accounting techniques

1. Activity-based costing
2. Target costing

3. Life-cycle costing

4. Throughput accounting

5. Environmental accounting

B Decision-making techniques
1. Relevant cost analysis

2. Cost volume analysis

3. Limiting factors

4. Pricing decisions

5. Make-or-buy and other short-term
decisions

6. Dealing with risk and uncertainty in
decision-making

Performance measurement and
control

. Performance management

information
systems

. Sources of management information
. Management reports

. Performance analysis in private

sector organisations

. Divisional performance and transfer

pricing

. Performance analysis in not-for-

profit organisations and the public
sector

. External considerations and

behavioural aspects

b)

c)

% SRR BIRE T B xS —
s W RABIM R E AR

Studv Guide b) Calculate and interpret a throughput
y accounting ratio (TPAR).”
A. Specialist cost and c) Suggest hlg]w a TPAR could be
management accounting improved.
techniques d) Apply throughput accounting to a
multi-product decision-making
. Activity based costing problem.
Identify appropriate cost drivers 5. Environmental accounting
under ABC.!"!
a) Discuss the issues business face in
Calculate costs per driver and per the management of environmental
unit using ABC.? costs.!!
Compare ABC and traditional b) Describe the different methods a
methods of overhead absorption business may use to account for its
based on production units, labour environmental costs.!"
hours or machine hours.”
B. Decision-making

a)

b)

Target costing

Derive a target cost in manufacturing
and service industries.”

Explain the difficulties of usin? target
costing in service industries.”

techniques

1. Relevant cost analysis

a4

)

b

Explain the concept of relevant
costing !

ldentifv and ralriilate relevant Fncte
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Level 1

List, define, describe, explain, select,

calculate, identify, compare

BHAIUSZZE-

=0

Analyse
Actual meaning: Break into separate parts and discuss, examine, or interpret each part

Key tips: Give reasons for the current situation or what has happened.

Level 2
Apply, compare, analyse, compute,

derive, reconcile, prepare, interpret,

value, contrast, relate, classify, solve,

implement

Level 3

Formulate, modify, rearrange, create,

compose, design, develop, highlight,
summarise, assess, evaluate, justify,
decide, infer, advise, recommend,

discuss, report

Apply
Actual meaning: To put into action pertinently and/or relevantly

Key tips: Properly apply the scenano/case.

Assess

Actual meaning: To judge the worth, importance, evaluate or estimate the nature, quality, ability,

extent, or significance

Key tips: Determine the strengths/weaknesses/importance/ significance/ability to contribute.

Calculate
Actual meaning: To ascertain by computation, to make an estimate of, evaluate, to perform a
mathematical process

Key tips: Provide description along with numerical calculations.

Comment
Actual meaning: To remark or express an opinicn

Key tips: Your answer should include an explanation, illustration or criticism.

Criticise
Actual meaning: Present the weaknesses/problems; evaluate comparative worth. Don't explain
the situation. Instead, analyse it

Key tips: Crticism often involves analysis.

hink Ahead
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Financial Accounting Theory and Practice
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Auditing Theory and Practice
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2. Zi%%TEE

A. IBILFISCE Y& E  ( balance of practice and theory)

B. i K H £ +#% 77 2\ A o] @ A XUAg FNFR 6 (style and standard of questions)

s = N 2K (coverage of core syllabus areas)

C. * XM F ARSI K ACCA Zi%

D. Z A X 573 7L (structure and mark allocation)

PM TX (UK) TX (CHN) FR AA FM
**Section A (& ) 30 30 30 30 / 30
**Section B ( MR HIE ) 30 30 / 30 30 30
Section C ( EM A ) 40 40 70 40 70 40
* ACCAZ % & mi e & B 45 W FINCCA & BEL Y
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{6 marks).,

. Exchange rate risk

o)fil: ELMARL (F)

4. Mezzanine Debi
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2. Europeanoption

Think Ahead



3. /i D
XXXXj(."%." Course Examination Questions.

Course name: Financial accounting theorv and Practice Course Tvpe: Degree course +

Majors: MPAcc+

BIFR 3: EXBFEMX A2/ (E)

. oJeil: B RO AHFES (D) , Bilg—, HELR

1. Take the investment real estate as an example, compare and evaluate the end-of-period
measurement of cost and fair value measurement mode. {20 points) +

2. What is the difference between business combination under common control and business
combination not under common control on consolidation spread (goodwill)? Compare and
evaluate the accounting treatment of goodwill arising from mergers and acquisitions. { 20 points) +

s— g N " - A8 B ) B — :

. ojRn2: IBLMSEEATE (A) , 4, 98 E—, WENB

3. What is a comprehensive (integrated) earnings concept? What is the impact on net assets and

net profit? What is the impact on the balance sheet and income statement? ¢ 24 points) + Think Ahead

H
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L. True (T) or False (F). (8%) Score

S

1. Capital market deals with both short-term and long-term secunities.

2. Interest expenses related to the project’s financing should be mcluded fo calculate the net
present value of a project.

3. Opportumty cost must be meluded 1 the project’s evaluation.

4 The higher the busimess nisk, the higher the DOL.

5. Debt and agency costs have the same effect on the value of the firm.

6.  Purchasmg Power Panity (PPP) theory states that as the purchasing power of a currency
sharply declines that currency will appreciate agamst stable currencies.

7. The International Fisher Effect suggests that the nominal interest rate differential reflects
the expected change 1n the exchange rate.

8 The options strategy of buying calls and selling puts are consistent in their belief about

the future behavior of the underlying asset price.

IL Fill in the blanks. (10%) Score

1. Ifabond sells at a discount. Py would be (lower/higher) than par value and the
coupon rate would be (lower/higher) than YTM. (P represents the price of a bond
and YTM i1s the bond's vield to maturity.)

2. The required retumn to bondholders would be (lugher/lower) than the cost of
the debt to the company 1ssued bonds.

3. Adecrease in the corporate tax rate would cause firms to (increase/decrease)
the level of financial leverage.

4 IfNPV of the project 1s greater than zero, PI should be (lower/lugher) than 1. and

IRR should be (lower/higher) than cost of capital.

Eention A — ALL 15 questions are compulsory and MUST be attempted (Each question is

worth 2 marks)+

1.

Which of the following are indicators of overtrading.+~
i) Reliance on long term finance.+
ii} Offering lax credit terms.+
i) Build up of inventory.+
iv] Rapidly decreasing sales.+
v) Deteriorating Current ratio.+
+
i), i) and jv) only+
i}, iii} and v) only+
All of the above+

- i), i} and iii} only+

How can a company assess the credit worthiness of their customers?+

Get trade references from other suppliers or from banks.+
Use a credit rating agency. +

Offer initial high levels of credit.+

Aslk for a written promise to pay.+

land Zonly +

.land3only +
.2and 3only +

1, 2 and 3+

Which of the following is an ‘effectiveness’ target that a not-forprofit organization might

putin place?+
MNegotiation of bulk discounts+
Pay rates for staff of appropriate levels of qualification+

Rl EZ A RNNFRERTTE (B), mAlg—, iﬁ}%;“ﬂ%ﬁmw
2. EiEB RS EAETE (D) , SENX



3. NI, F — £ TAA (B0 £ 18130/ MR 70)

-

1. Amongthe following assertions, whichis related to both assertions about the transaction and events, .
accountbalance, and presentation and disclosure?+ Scores | | Question 1 (20 marks)-
A Completeness B. Occurrence C. Cutoff D. Eights and obligations+

+ The following scenario relates to question 1-5.+

. . . . .. by dit fYHT & C dh ked on the external audit of BIM Cp (BIM
When issung qualified adverse or disclaimer audit opinion, notes should be addedbetweenthe paragraph ou are an audit senior o 0 &nQ Have Worked of He exfemat aidito (BIM.
that states the auditor's responsibility andthat states the auditing opinion, which explains the reasenof an unlisted company. since your firm was appointed extemal auditor two years ago.«
issuing the audit opmicn or thatofnotbe able to issue audit opmion The note should also explain the BIM owns a chain of nine restaurants and is a successful company. BIM has always been
effecton which of the followingissue 7+ subject to national hygiene regulations, especially in relation to the food preparation process.

A. Audit opinion B. Auditreport  C.Financialstatemerts D. Financial informations’ Non-compliance can result in a large fine or closure of the restaurant concemned.~
1. Despite running a successful company, BIM's Board have often needed to be reminded of

(=

some fundamental principles and von often have to explain key concept.+

3. Aboutthe performance matenality, which of the following statements is incorrect?

4. Performancemateriality isthe amount(s) set by the auditor, and is lower than the materiality of A The external audit is an exercise camied out by auditors in order to give an opinion on
finandal statement az a whole + whether the financial statements of a company are fairly presented .+
pany ¥P
B. The auditor should determinethe performance mateniality, to assess therisk o fmaterial misstatement B. The extemal audit is an exercise camied out in order to give an opinion on the
and the natre, timing and scope of firther audit procedure + effectiveness of a company’s internal control system.«

C. The external audit is performed by management to identify areas of deficiency within a

C. Performancematenality amms atreducing the probakility ofthe aggregationofthe undetected and the

uncomnectedmisstatements exceedng the matenality ofthe financial statement as a whole to the
appropriatelowlevel + D. The external audit provides negative assurance on the truth and faimess of a company’s

company and to make recommendations to mitigate those deficiencies.+

financial statements .+

0. Themore the prior audit adpstments, the higherthe assessed overallnsk ofthe project, the closerthe
performance matenality to thematenality ofthe finanaal statementas a whale.

[

The Board has also struggle to differentiate between their responsibilities and those of the

external auditor in circumstances such as the prevention and detection of fraud and emor,

¢ and compliance with regulations.+
4. Which of the following substantive procedure is most relevant to the confirmation of sales revenue Which of the following statements best describes YHT &Co’s responsibilities
completeness’+ regarding BIM’s compliance with hygiene regulations, in line with ISA 250
A. Trace salesinvoice to the delivery order.+ Consideration of laws and regulations in an audit of financial statements?+

B. Trace salesinvoice to sales revermeledger + A YHT &Co should actively prevent and detect non-compliance with the regulations.+

B. YHT &Co should perform specific audit procedures to identify possible

C. Trace salesreveeledger to salesmveoice, delivery order andreceipt o fnote+ non-compliance

Mﬁ; ﬁould obtain sufficient appropriate audit evidence about BIM's compliance
%l_t ;:HJ Z_ AEE ( D ) . jjAA{ZE%X 7%15'] Bj KLy ;\rXL %’1 Fé ns as they have a direct effect on the financial statements.+
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Section B - ALL SIX questions are compulsory and MUST be attempted. (70 marks).

1. Please describe the audit risk model and the components of the model.

2. Please describe the pre-condition of audit..

a)&h : Z A NRFREARTFS B). B

EXRHER, EEEE-,

(10 marks).

(10 marks).

[

. Tech Co. manufactures a variety model of smart phones. Its year ended was 31 March 20x8. You

are the audit manager and the year end audit is due to commence shortly. The following issues
have arose your attention:+
(i} Inventory valuation (3 marks)+
The country which i-Tech operates in has experienced a recession in the past 12 months. The

sales dropped significantly which caused a large quantity of unsold inventories. As the

technology updates quickly, the manager believed that the price of these smart phones would

fall and i-Tech decided to write down the valuation of its inventory. +

¢

(ii) Receivables (4 marks)-
One major customer of i-Tech, a cellphone store, has ceased trading as a result of facing

financial difficulties and there was doubt on the possibility that it would pay the amount owed.+

¢

(iii) Redundancy cost (3 marks)+
In order to reduce cost, i-Tech has laid off one third of its production and sales staff. The
redundancy payment was considerable, but the staffs were still unsatisfied. There was also
panic among the remaining staffs.+

¢

(iv) Provision (5 marks)+
There was an accident that the smart phone produced by i-Tech exploded, which caused injury
to the customer. The customer has sued Spade for compensation.+

¢

Required:+
(a) Describe substantive procedures you should perform to obtain sufficient, appropriate
audit evidence in relation to the above four matters;~
o
(b) Identify two indicator that i-Tech has problem of going concern, describe procedures the
auditor should perform in assessing whether or not the company is a going concern.

(5 marks)~




3. /M H — X TFEAIRBEZ XIS N EIZR B S GEEZE D 50%

Name of each module and code Year module | Please provide details of how Percentage of each assessment method towards | Duration of | Assess
taken by module is assessed (final exam, | final result examinations | against
students mid-term exam, class test) (if applicable) | ACCA paper

Cost and Management Accsunting 1 Final closed book examination 50% Zhours F5

03097020

Class attaendance 20%

Case analysis 30%
Tax Planning for Overseas Investments 2 Final closed book examination 60% 2hours F6
03097024

Class attaendance 20%

Assignments & Class Discussions | 20%

Advanced Financial Theory and Practice 1 Final closed book examination 20% Zhours F7
03097018

Class aftaendance 20%

Group case and statement 30%
Advanced Auditing Theory and Practice 2 Final closed book examination 50% 2hours F8
03097026

Class aftaendance 20%

Assignments & Class Discussions _SD%

Advanced Financial Management Theory and 1 Final closed book examination 40% Zhours Fg9
Practice
03097019 Class attaendance 20%

Assignments & Class Discussions | 40%

Think Ahead [:lele7.y
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% (Specimen exam)

PMEEREEH

JFEE2ZF (Past exam paper)

« ACCAAT AR Y% S (BPP/KAPLAN Revision kit)

mmmmmmmmmmm B Z Applied Skills @

Performance
Performance D_
S
q) N B P P

Specimen Exam applicable from
September/December 2018 — Sample Questions

PM

Management P l a
Management

(PM)
Think Ahead [:lele7.y
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5. ZIIN B ZE

3

(a) ISA 520 Analytical procedures requires that the auditor performs analytical procedures during the
initial risk assessment stage of the audit. These procedures, also known as preliminary analytical
review,

Required:
(i) Explain the reasons for perfarming analytical procedures as part of risk assessment. (3 marks)

(ii) Discuss the limitations of performing analytical procedures at the planning stage of the final
audit. (4 marks)

(iii) The situations in the audit when analytical procedures can be used. (3 marks)

(b] You are the manager responsible for the audit of Yapa Co, a listed company, which operates a chain
of supermarkets, with a year ending 31 December 2017, There are three business segments operated
by the company - two segments are supermarket chains which operate under internally generated
brand names, and the third segment is a new financial services division,

The first business segment comprises stores branded as "Yapa Mart'. This segment makes up three

quarters of the supermarkets of the company, and are large ‘out of town' stores, located on retail
parks on the edge of towns and cities. These stores sell a wide variety of items, including food and
drink, clothing, househeld goods, and electrical appliances. In Septermber 2017, the first overseas Yapa
Mart opened in Poland. This expansion was a huge drain on cash resources, as it involved significant
capital expenditure, as well as an expensive advertising campaign to introduce the Yapa Mart brand in
Paland.

The second business segment comprises the rest of the supermarkets, which are much smaller stores,
located in city centres, and branded as 'Yapa Express’. The Express stores offer a reduced range of
products, focusing on food and drink, especially ready meals and other convenience items.

The company alse established a financial services division en 1 January 2017, which offers loans,

insurance services and credit cards to customers
Required:

Explain the information that you would require in order to perform analytical procedures during the
planning of the audit. (10 marks)

ORIGINALITY REPORT

90. s87. 0. 75,

SIMILARITY INDEX INTERNET SOURCES ~ PUBLICATIONS STUDENT PAPERS

MATCH ALL SOURCES (ONLY SELECTED SOURCE PRINTED)

www.accaglobal.com

Internet Source

Exclude quotes Off Exclude matches Off

Exclude bibliography ~ Off
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3

The company ‘s reporting date was 31 March 2017, and the financial statements

were authorized for issuc on 17 April 2017, All following events and transactions
were assumed (o be matenal.

Which would be treated as an Adjusting event under CAS 29 Events Afler the
'poning Period?

(1) A valuation of property providing evidence of impairment in value at the

reporting period,

8
(2) Sale of inventory held at the end of the reporting period for less than cost
(3) Discovery of fraud or error affecting the financial statements.

(4) The msolw:nc\ of a customer with a debt owing at the end of the reporting

= WAL AR T2 EE
B. 1, 2and 4 only
C. 3 and 4 only

D. 1,3 and 3 only

mPR2: FEEUUERA, ~EIE




5.2 #HZEAKH - XFIHE

All four questions are compulsory and must be attempted

N . . S EERIN —
WiBH2: SectionZEXKIFIAMEE, FEINZE
1. ABC Cois a profitable company which is considering the purchase bf'a machine costing

$300,000. If purchased. ABC Co would incur annual maintenance costs of $25.000. The machine

would be used for three vears and at the end of this period would be sold for $40.000.

Alternatively. the machine could be obtained under a short-term lease for an annual lease rental
of $110.000. payable in advance.

ABC Co !an claim capital allowances on a 25% reducing balance basis. The company pays tax
on profits at an annual rate of 30% and all tax habilitics are paid one year in arrears. ABC Co has
an accounting year that ends on 31 December. If the machine is purchased, pavment will be made
in January of the first year of operation. If leased, annual lease rentals will be paid in January of
cach vear of operation.

qurred. s . B N — == (=
(a) Using an after-tax borrowing rate of 7%, evaluate whether ABC Co should purchase or lease the 1% EH 1: Lﬁi E |j<—| QE/E\E H
Eew machine. (12 marks)
(b) Explain the difference between risk and uncertainty in the context of investment appraisal, and
describe how sensitivity analysis and probability analysis can be used to incorporate risk into the

investment appraisal process. (7 marks)
(¢) Explain the differences between hard and soft capital rationing, and gives reasons why a
company may deliberately choose to restrict its capital expenditure.
(6 marks)

Think Ahead




5.2 #bZA 7 — B &I ZE

' N
0. he capital structure of a company was as follows: 1% BA1: 'fyigi T@ g )H\ZL E&EE
h)

Ordinary share capital
100,000 shares of S0¢ each 50,000
Share premil.'a account 180,000
During 20X2 the company made a bonus issu¢ of | share for every 2 held. using
the share premium account for the purpose, and later 1ssucd for cash another
60,000 sh:m' at 80¢ per share,
What is the company ‘s capital structure af
Ordinary share capital Ly
130,000 173,000
103,000 173,000

00 oo | EEs: WERT S8, MATHIEREATS

105,000 137,000

mBH2: (NER TR A EHE

OO E e

Think Ahead




5.2 -Tl- %E—EI'J?'%JU E/u /2—
Fa-:-qn 70% of the cquity sharc capital of 5. The _IFE,EH]. TX%T@TU—ME&EE

T i share exchange of three shares im P for every
Four shares in 5. Ad the dave of acquisition, the stock marfer prices of P and 5 were
£33 and ¥4 5 per share respectively, Pm-!“m pay cash consideration of 1 .54 on
.:I Apnl 20 T for each share acquired. P a casl of capital of 1124 per annam.
Below are the sammarized dirafi finencinl sintements of both companics.

other comprehensive im: for the year -IEE'HHZ {X**Tﬁ@? %ﬁi El

Cost of sales 5,2 (32, DM
Gross profit i 28 K
Dstribution cosis [ L {1440
Adminigiraiive cxpenscs F LT {2 Linay

i before o sima] 24400 WA (NEHR T2, miksk

[ncome tax cxpense {2 (N0}

afin for the 3 . 22,
E.Hhcl: -;:l:pn::::ﬂu L1 T TN E/\] %Tj:é%$@%zl—txg
Graim om revaluation of propery (noie (i)
Towal camprebensive income

]
Statcmcnis of financial position as at 30 Januwary 2017

S wRR4: MR T 21 (F000) &

Broperty. plant and cguipment 1 (WM e T

Investmends; 1{%G boam note fraom Subtrak (node {i8)) 1,500 mill
" 7300 2o AN A

Currend assels

Invembory (noie [iilk 3700 1200
Trode reccivabbes (eoe (ililh 5 000 2300
Biank 270 M)
. 11 400 &S00
Tioual asseis XE 00 16, 300
Equity and liplkilities

Eqquiny
Exquity shores of $1 cach 1210 K000 Think Ahead [:{ele7.¥
Revaluntion surplus 1 B mil

Retaingd camrnings G 200 2 SHO




5.2 -Tl- %E—EI'J?'%JU E/u /2—

0, & company ]Jul.:l:l on i m.n] r stock market, 15 looking at its cost of capital as it prepares
company, NNN. Both companies are in the same business
sector. Financial information en KEK Co and NNN s as follows:

KKK NNN

— —T Tt BEAL: (BRI T ARG

Curssqr gasels

Currenl kel
Ordirary shares, par vakse 5c ' “ L ”
o . BA2: (R AITRERE, HaalE IR

F bonds, redeemable al par in s peart’ hme
9% hondk, redeemabile at par in twn pears’ time

Telal equity and Aor-corment Rabililies 2 li_l/\ —— —
Other neeraanl fnancial infrmalion J1 ,EE a; E

Ricie-frese rate o retum
s o P kel

rear and has maintained a dividend payout ratio of 45% for
er share of the company 15 80c per share and its carmings
have grown at an average rate nl' 4.5% per year in recent years.

The ex div share price of KKK Co is 34.20 per share and it hag an equily beta of 1.2, The 7%
bonds of the company are (rading on an ex inlercst basis at $94.74 per £100 bond. The
pricefearnings ratio of KKK Co is eight times,

The direciors of KKK Co believe a cash offer for the shares of NN would have the besi chance
of success, It has been suggesied that a cash offer could be financed by debt.

Required:
{a) Calculate the weighied average cost of capital of KFP Co on a market value weighted basis. (8
marks)
(k) Calculate the total value of the target company, NGN, using the following valuation methods:
(i) Price/earnings ratio method, using the price/earnings ratio of KFP Co. and
(i) Dividend growth model, (6 marks) Think Ahead

(¢} Explain how the capital asset pricing model can be wsed 1o calculate a project-specific
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